Block Diagram for Squeezer 3.125Mhz Combiner for 04 D2100764-v1
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Photodiodepower = 20mW
IFO signal fromout the OMC = 100mW
SSB =2

JIFO signal out OMC * Photodiode Power * SSB

V100nW = 20mW = 2 = 63ulW

Current (Photons) = Ry, (%) xP(W) = (A)

I = 0852 x 63uW = 53.550A

adding the transimpedance gain and multiplying the 50o0hms load to get the voltage
\% \% \Y% \Y%
Votal =1 (A)x12.3 <K> x50 (K) =53.55uAx12.3 X SOZ = 32.93mV

volts to dbm
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P(dBm) = 10log [SOOthX lmW]
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P(dBm) = 10log [SOohmsx 1mw|



